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p. GplwG 07 dwpwh 2016p.

KUBEunuvnNUertuvLu»  LRRAL /wjunthtn®  pwGly/  pwdGhwmbtptph  htowjw
pytwpynipjuwdp  wpuwhbtpp  dnnndh - pbwpynipnilp juwwnwnpdkp b pytwptpphlyGtipnyg
(«Pwdlbtmhpuwl pGytpmpyniGGiph dwuhG» << optlip, hnpwo 79): Lytwpbpphyltinp,
hwdwdwjG pwGyh lnphpgph phy 2/06-15.01.16p. npnpuwl, wpwdiwnpyl] /wnwpyt)/ Gl
pwdGtmtipiphG JdhGsu u.p. thtwmpjuph 06-p: Lytwpynipjul wpynmilpltph  withnthdwl
dudwlwly hwpyh GG wnGyb; dnnmnyh wlgiugiwl opjw npnipjudp  Ytpunuwpdjwo
pytwptipphyGtipny mpwiwnpyuwo dwjGtpp:

Lytwptipphltinh withnthiwl wpnyniGplbpp htnlyw G GG

Pwulyh wmtnuwpwfujwo pytwpynn pwdGtwmndutiph dwjlGtph gnuiwpwjhlG pwlwyp
Juqunud £ 933,335 dwjGh hpwynilp wnynn pwdGtnndu, nphg pytwpynipjulp dwulwlygty GG
865,127 dwjGh phpwynilip wnynn pwdlbnniu Jud pwdGhmniubph plnhwlnip pyuwpwlwlyh
92.69%-n: Lytwpynipjulp dvwulwlygwo pytwpbpphlltphg wlwybp G6 dwlwyyty 1
pytiwptinphy 13 dwjGh hpwyniGpny' pybwnpynipjul JulnGatpp fuwfuntine wuwmdwnny:

Lynpnudp wywhnygwo k:

Pwlyh pwdlbmbptph htnwjw pytwpynpjuip wpmwhbpp dnnnyh pybwpynipjubh
EhG npywo htnnlyw hwpgtpp

oruuunra

1. Pulyh pwdlbtmbtptph hinwlw pytwpynipjudp wpmwhtipp dnnnyh hw)yhy hwladGwdnnnyh
dwuh(:

2. Pulyh pwdGbwmndutiph 12-pg pnqupyiwl pwdwlnppugpmipjul wpyniGpltpny pwGyh
JulnGunpuiub yuyhnwnp 3,167,022,500 << ngpud hwumwwmbint dwuh(:

3. Pwlyh GulnGuwnpmpjul thnthnfujwo nmwppbpwyh yepuwptpyuwy:

4. PwGyh lunphpph winuy, 496 Gipujwgnighy bpuyh UwlGwquath jhwgnpnipniGGaph
Jwnuwdwiytnm nunuptgiwl yepwpbpjuyg:

5. PwGyh lonphpmh winuy, 496G (np Gepluwjwgnigsh pGunpnipjw b ytpwptipguwy:

Lytwpynpjulp dwulwlgwod pwdlbhnmbptph dwjltpp, punm opwlwpgh hwnpgtinh,
pw2fuyti G0 httmlyw Yhpy.

1. Unw9hG hwpg ynnu 864,914 4wl Juu dwulwyhgltph dwjGtph 99.975%

ntid 0 dwyl Jud dwulwyhgltiph dwjGtph 0%
dtinywh 200 dwy6 Yuwu dwulGwyhgltph dwjltph  0.023%
wljwybtip 13 dwjl Yuwd JwulwyhglGtiph dwjGtnh  0.002%

2. Gpypnpn hwng ynnu 864,914 dwjl Yuwi dwulwyhgltinh dwjlGtph 99.975%

ntid 0 dwyl Jud dwulwyhgltph dwjGtph 0%
dtinlywh 200 dwj6 Ywu dwulGwyhgltph dwjltph  0.023%
wijuytp 13 dwyG Yud JwuGwyhgltiph dwylGtph  0.002%

3. Gppnpn hwpg ynnu 864,914 4wl uwd dwulwyhgltinh dwjlGtph 99.975%



nhu 0 dwyG Ywy dwulwyhgltinh dwjGtph 0%

atin(wwh 200 dwjG Jwy dwulGwyhgltph dwjGuph 0.023%
wijuybp 13 dwyG Jud dwuGwyhgltinh dwjGtph 0.002%
4. Onpnpnprn hwpg Unnu 864,914 dwjl Yuwi dwulwyhgltinh dwjlGtph 99.975%
ntid 0 dwyG Juwy dwulwyhgltph dwjGhph 0%
dtinGuyuwh 200 dwjG Ywy dwulwyhgltph dwjGiph  0.023%
wljwytip 13 dwjG Yuwd JwuGwyhgltiph dwjlGtph  0.002%
5.{hGqbtpnpn hwpg  Ynnd 864,914 4wl Yuu dwulwyhglGtph dwjGtph 99.975%
ntid 0 dwjl Yud dwulwyhgltinh dwjGtph 0%
dtinGuywh 200 dwjG Ywd dwuGwyhgltnh dwjGiph  0.023%
wljwytip 13 dwj6 Yuwd dwuGwyhgltinh dwjlGtnh  0.002%

Ujuwhuny, t10tny pytwnpynipjuwl wpyniGpGtinhg.
anande nencnNrULEs

I. Qwunwwnby pwlyh pwdGtnmbtptph htnwlw pytwpynipjudp wpmwhtipp dnnnyh hwpyhy
hwGdGwdnnnyp vk mwupju jhwgnpnipjniGitph dwdytinny, htnlgw juquiny.

‘Lwhiwquwh' U. lvwywnpjul

UhnwiGtp' <. Ganpyu, 6. UtipuwGjub

2. Qwumnwuwnti] pwlyh pwdGtnndutinh 12-pg pnqupiwl pudwinppugpnipjul wpnym GpGhpny
pwGyh JubnGunpuuwl yuwyhuwp 3,167,022,500 << npu:

3. Qwunuwunt] «KUSEUNLAURULLUY L2 GulnGunpnipjul jpuiwljuwoe mwpptpwlyn:

4. Jdwnwudwiytn nunupbglt; «USEUNLAURULU» RPL lunphpph wlnud, 49GR
Gipyuywgnighy bpwyh Uwlwquwdbh jhwgnpnipyniGGhpn:

5. Qwunuwunt] «KUSEUNULVNURULLU» LRRL lunphpph wlnuwih wuwpwnlind Q6L Gnp
Gpyuwjwugnighsy hGGw 3wppwpnywjhl:

KUBEUNuNURULLU» PRL pwdlbnbtptph htnwlw pytwpynipjudp wpuwhbpp
dnnnyh hw)yhs hwGdGudnnny.

(wfuwquwh’ U. bwswunpju
wlnuiGbp <. GanpjwG

G. UjtipuwGyw G



